JE &%l - FRBERI

FoRb ~ BER « STIEMEMEASR

CHELIC.

FHRh

@ T4 1SO 21287 351&
@ (TIZATRE RETHY

O ASERERFAHIEE

MgR
HE EIE (mm) 12 | @16 | @20 | @25 | @32 | @40 | @50 | @63 | @80 | @100
EEHEI (k.
fEFTRAE ER
fEFE N IE kef/cm?(Pa) | 2~7(200~700) | 15~7(150~700) | 1~7(100~700)
ERRERE =c 0~60
EREERE mm /s 50 ~ 500 [50~350 [ 50~250
FEME REE
EEARN SRR E
S BEftia A
HEEOE M5x0.8
RUFERE Mitga
IfEmEIERsE JE 32x25-B-LB-Y-9D2
@>2—6—@ 66T 60—
1 2 SR ELE (mm) R | EEEX % BimiERR
12 212 FA | AIESERE | | $258
16 216 FB | BESKME ) Y 6
20 220 CA | BHERE PHS RORIEE
25 225 B | NEEER B
32 732 1B | mEEER
40 240 REH .ﬁﬁ‘ W%‘
50 250
- e @ | 3288 YEE
80 280 3
100 5100 FA: BIESARRRL @.’
AR
3 | I (mm) UE(THE (mm)
@12~ 025 25~ 100 R BAESE A
232 ~ 3100 25~ 500 WS | MBS
JEK: SER 9D CS-9D
4 TRE

% ==
28 P82

; CS-9D
A0SR AOFEY B:4MoFEL
a4 RFERHE
1 118
LB : WEEEIER 2 ¥ 2 {8l
6-3.96 EEARELE 932~0100




JE &%l - FRBERI

SVEERRT | JE 1Z#ER CHELIC.
EAER NA
. EF R
©C JE@12~@25 O HFEFR~
NA2
D A+ 1712 cs -
1, B+ 1712 c2 c1 NB
‘ Bt Rk pERY
‘ % TR
€07
< A = - NU
‘5}, wl a 8 & @\ @ SEREH
| 2-J
\/ (1 - ND
4L ZERREL
i H|| G ‘ ‘ G
. F NQ

(@) se12x = sT FERR

X3 MSI
g@~. | A |B|C1|c2/C3| D |E|F |G| H|I J K1 K2 L M || smmea
@12 |40 | 35 | 5 | 10 | 15 |27.5| 16 |10.5 4 | 6 | M5x0.8P | M3x0.5P | M5x0.8P | M4x0.7P | 5
@16 |40 | 35| 5 | 12 | 17 | 29 | 18 | 11 4 | 8 | M5x0.8P | M4x0.7P | M6x1.0P | M4x0.7P | 7
@20 |43 |37 | 6 | 16 | 22 |355| 22 | 12 | 65| 4 | 10 | M5x0.8P | M6x1.0P | M8x1.25P | M5x0.8P | 9
@25 |45 |39 | 6 | 16 | 22 |395| 26 | 12 | 6 | 4 | 10 | M5x0.8P | M6x1.0P | M8x1.25P | M5x0.8P | 9 || JQ
BEREL
© JE@32~@100 CHTFERER~ JD
TREREL
JG
D A+ 172 c3 ﬁggﬁﬂ
E ct | | B+ 1R c2 I
© i — _ JTD
Ay
- ul o 5; A C\ /> BARA
' N i
@ N2 B
l TREREL
|| | | e JCB
t SBEERY
4 F ‘ _F ;‘2&%&1
JE32x 1 ST (EE)
) JCF
3 A
fI@~ | A|B|C1|C2|C3| D |E|F |G | H|I J K1 K2 L (T i
@32 |50 |44 | 6 | 19|25 | 47 |325] 15 | 85| 4 | 12 | PT1/8"|M8x1.25P |M10x1.25P | M6x1.0P | 10 |
@40 |51 45| 6 | 1925|545 38 [ 15 | 8 | 4 | 12 | PT 1/8" |[M8x1.25P | M10x1.25P | M6x1.0P | 10 || g
@50 |53 |45| 8 | 22 |30 |655|465| 15 | 75| 6 | 16 | PT 1/8”|M10x1.5P | M12x1.25P | M8x1.25P | 14
@63 |57 |49 | 8 [ 2230 755|565 15 | 7.5 | 6 | 16 | PT 1/8" [M10x1.5P | M12x1.25P | M8x1.25P | 14 | pur
@80 |63 |54| 9 | 28|37 |955| 72 |165| 8 | 7 | 20 | PT 1/8” M12x1.75P| M16x1.5P | M10x1.5P | 17 | | mmsm
@100 | 76 | 67 | 9 | 28 | 37 [1135| 89 | 215|105 7 | 20 | PT 1/8” |M12x1.75P| M16x1.5P | M10x1.5P | 17

6-3.97



JE &%l - FRBERI

SMEER R~ [ JED W EHE CHELIC.
W B
© JED @12 ~ @25 C I FEFRT
D A+ (17F2x2) C3
E o1, B+ 1712 C1+11R c2 | ct
D ST He e e o fEEo %
i W = i =
D 2-J K2
e
4t H|| G ‘ ‘ G
_F] ~F
JED12 ST
X
fLak A B |C1[C2|C3| D E F G H | J K1 K2 L M
FIE
212 45 | 35 5 10 15 |275] 16 |[10.5| 6 4 6 M5x0.8P M3x0.5P M5x0.8P M4x0.7P 5
216 45 | 35 5] 12 17 | 29 18 1" 6 4 8 M5x0.8P M4x0.7P M6x1.0P M4x0.7P 7
220 49 | 37 6 16 | 22 |355]| 22 12 6 4 10 M5x0.8P M6x1.0P M8x1.25P | M5x0.8P 9
@25 51 39 6 16 | 22 |39.5| 26 12 6 4 10 M5x0.8P M6x1.0P M8x1.25P | M5x0.8P 9
© JED @32~ @100 CHFEFERT
A+ (1752 x2) C3
E C1 ) B + 172 ) C1+ 1772 C2 C1
\
I I e T T B S
@ 1
= s| B @\WQ =
2 K2 /
H|| G ‘ G
F F
JED32 ST
X
X3
TR A B |C1|/C2|C3| D E F G | J K1 K2 L M

@32 56 | 44 19 | 25 | 47 | 325| 15 | 85 12 | PT 1/8” [M8x1.25P | M10x1.25P | M6x1.0P | 10

240 57 | 45 19 | 25 | 545 | 38 15 8 12 | PT 1/8” |M8x1.25P | M10x1.25P | M6x1.0P | 10

250 61 | 45 22 | 30 | 655|465 15 | 7.5 PT 1/8” IM10x1.5P |M12x1.25P | M8x1.25P | 14

263 65 | 49 22 | 30 | 755|565 | 15 | 7.5 16 | PT 1/8” IM10x1.5P | M12x1.25P | M8x1.25P | 14

280 72 | 54 28 | 37 |955| 72 |165| 8 20 | PT 1/8” [M12x1.75P| M16x1.5P | M10x1.5P | 17

©o|lo|lo| ol o o
N (N|lo | o~~~ I
N
o

2100 85 | 67 28 | 37 |[113.5| 89 |215|10.5 20 | PT 1/8” |M12x1.75P| M16x1.5P | M10x1.5P | 17

6-3.98




JE &%l - FRBERE

S'ERERRT | JEK 2EE CHELIC.
ZER NA
R IF SRUET
© JEK@32~@100
NA2
B
A+ 712 BFE
s
o1 + 1772 NB
C1 [e] ) Bt RkmERY
‘ PR SUEL
\& NU
% BRI
5 e 0
ﬁEF SENEH
V. r
Ki 2R (@) |
G NQ
ZERREL
MSI
2-S(fE) o NESEEST
Cc2
— 77\ '
o s M — G JQ
] — Y=kt
_ @ m 3\
Yr—
i )
@™ | O JD
K2 & . RERE
ASJ F2
—— |—— 1
F1 JG
BIEpHEERY
AEREL
JTD
— " AR
FI7& \ {t% | A | B |[C1|C2 |C3 | D1 D2 | E |[F1|F2 |G1|G2 |H| I J K1 AERE
32 65 | 59 | 6 | 19 | 25 | 48 | 47 [32.5| 30 | 15 |21.5/8.5 | 4 [ 12 |PT 1/8| M8x1.25 JTE
40 66 | 60 | 6 | 19 | 25 |55.5|54.5| 38 | 30 | 15 | 23 | 8 |4 |12 |PT 1/8| M8x1.25 s
50 68 | 60 | 8 | 22 | 30 |66.5|65.5|46.5| 30 | 15 |22.5| 7.5 | 6 | 16 | PT 1/8| M10x1.5 HRRE
63 72 | 64 | 8 | 22 | 30 | 76.5|75.5(56.5| 30 | 15 |22.5|7.5 | 6 | 16 |PT 1/8| M10x1.5 JCB
80 80.5|71.5| 9 | 28 | 37 |96.5|95.5| 72 | 34 |16.5|25.5| 8 |7 |20 |PT 1/8| M12x1.75 Al
100 94.5(855| 9 | 28 | 37 [114.5/113.5| 89 | 40 |21.5|29.5(10.5| 7 |20 |PT 1/8| M12x1.75 (ED)
JCE
FIE \ e K2 L M| N | O|P|Q R S .
32 M10x1.25 | M6x1.0 | 10 | 35 | 20 | 25 | 10 |@5.13&FL,M6x1.0Px15dp | @5.13&FL,M6x1.0Px15dp (EBAE)
40 M10x1.25| M6x1.0 | 10 | 37 | 20 | 32 | 10 | @6.85&7,M8x1.25Px20dp | @6.838 7L, M8x1.25Px20dp | | ;¢
50 M12x1.25 | M8x1.25 | 14 | 45 | 20 | 35 | 10 | @6.8i@FL,M8x1.25Px20dp | @6.858F.,M8x1.25Px20dp | | sgmsmsr
63 M12x1.25 | M8x1.25 | 14 | 55 | 20 | 50 | 10 | @6.85&7L,M8x1.25Px20dp | @6.83&7l,,M8x1.25Px20dp
80 M16x1.5 |M10x1.5| 17 | 68 | 22 | 55 | 10 |@8 5, M10x1.5Px25dp | @8 57 M10x1.5Px25dp | |
100 M16x1.5 |M10x1.5] 17 | 85 | 26 | 75 | 14 | @8.5%&3,M10x1.5Px25dp | @8.5&F M10x1.5Px25dp | | jom:

6-3.99



JE &% — RRBRIL
AR | BERMA (EEARERE 032-0100)

CHELIC.

EHETE - [FA|AiGEER
[FB| RiEER (©) = —ra
JE [JFB
B
o Fams o FBx 4@ | E |FB|MF| R |TF UF| W |ZF
4-0FB 232
79 | 7 |10 |64 | 32 |50 | 16 130
o = = @40 |90 | 9 |10 |72 | 36 |55 |20 145
@50 |110 | 9 |12 |90 |45 |65 | 25 155
4h M 5O © @63 |120| 9 |12 |100| 50 | 75 | 25 (170
\ 280 |153| 12|16 126 | 63 | 95 | 30 | 190
s & = 2100 | 178 | 14 | 16 |150 | 75 |115| 35 | 205
‘ TF ‘ w |
UF MF | | ZF+fR MF
T
H#iE Rz - [CA| EHE R
[—F:1]
WEEE & (@) JE —ca
(die) JE CJCB
L,ﬂ,zfa‘;"*é“cn E |EW EY | L | T |W
© CAR! ©CBH 18
@32 | 10 | 47 | 26 | 45 | 22 | 10 |105
| ocb ﬂﬂ CED) @40 | 12 | 52 | 28| 52 |25 | 10 | 11
= A A : ] - - @50 | 12 | 65 | 32| 60 |27 | 11 |12
&7 N !
b = ﬁﬁ @63 |16 | 75 | 40 | 70 | 32 | 11 | 15
= & & & & @80 | 16 | 95 | 50 | 90 | 36 | 15 | 17
T EW EW 2100 | 20 | 114 | 60 | 110 | 41 | 15 | 21
OE EY
L |w
OE
WEEER -
(@) s e
OS5
&YV ) wli . |AB |AH | AT |AU|AV| SA| TR | UH
4-0AB ‘ - @32 |7 |32|5 |24| 8 |142] 32 | 47
& ; C
- = i . O @40 | 9 | 36| 5 |28|10|161| 36 | 53
< (A~ 7|
t < OO @50 | 9 | 45| 5 |32|10|170| 45 | 65
- 263 | 9 | 50| 5 (32| 10|185| 50 | 75
AV | AU AU‘ AV TR 280 |12 |63 | 6 |41 | 13|210| 63 | 95
| SA+ 1712 | UH 2100 |14 | 71| 6 | 41| 15|220| 75 | 115

6-3.100




JE &%l - FRBERI

A = CHELIC.
RELE Y | shim BIEEEERC 4
@D U
| BY3ZER NA
T BT R
—
o NA2
‘ v B
|><[ : R RA
i
oV KK NB
— vl
EF AL
Bgh I 1% D F G KK T U v
|- M5 x 0.8 212 5 25 32 M5 x 0.8 14 6.4 12 NU
- M6 x 1.0 216 6 24 31 M6 x 1.0 9 6 12.7 SEUEE
I-M8 x 1.25 @20 * @25 8 32 42 M8 x 1.25 1 8 16
- M10 x 1.25 @32 © @40 10 40 52 M10 x 1.25 13 10 19
IN - M12 x 1.25 @50 « @63 12 56 70 M12 x 1.25 20 20 24 ND
IN - M16 x 1.5 @80 « @100 16 56 70 M16 x 1.5 20 20 32 S ERITH
A "
Y BUi5EE ( Mi4EEH ) u Ne
ﬁf o ZERREL
S}
IJ MSI
R B
o -
]
B
|
i j]
1 L
KK
JQ
= BERE
Bl g I 1% D F G KK T u v .
Y -M5x0.8 @12 5 21 28 M5 x 0.8 10 6.5 12
Y - M6 x 1.0 216 6 24 31 M6 x 1.0 12 6 12.7 JD
YN - M8 x 1.25 @20 » @25 8 32 42 M8 x 1.25 16 8 16 S
YN - M10 x 1.25 @32 » @40 10 40 52 M10 x 1.25 20 10 20
YN - M12 x 1.25 @50 « @63 12 48 62 M12 x 1.25 24 12 24 6
YN - M16 x 1.5 @80 ~ @100 16 64 83 M16 x 1.5 32 16 32 ol
e s
BT
fAERIZEE a’l'k
H D
\ \ JTD
1 f\ iﬁi}ﬁg
ol a—[ 1 o) BARE
8| & \&%
JTF
R pRON AR
v AR
<
JCB
1 = AR
BARA
Is| M
N |_ex | JcF
AR
BERE
CHRE)
p HE | EE
Bl g filcd S A | B | O|H W/ | F D J K L | N |sioad| W
(KN) | (9) JE
PHS - 5 @12 M5 x 0.8 12| 5 |77 6 8 |27 |16 | 9 | 11 4 9 5 18 SEREITAL
PHS - 6 716 M6 x 1.0 14 | 6 |89 | 7 9 [ 30 |18 [ 10 | 13| 5 | 11 7 27
PHS - 8 @20>@25 |M8x1.25 | 17 | 8 |[104| 9 | 12 | 36 | 22 | 13 | 16 | 5 | 14 1 46 M
PHS - 10F @32 @40 |[M10x1.25| 21 | 10 [129] 11 | 14 | 43 | 26 | 15 | 19 | 6.5 | 17 14 78 J
PHS - 12F @50 @63 |M12x1.25| 24 | 12 [154| 12 | 16 | 50 | 30 | 18 | 22 | 6.5 | 19 17 15 WL
PHS - 16F @80~ @100 |M16 x 1.5 | 33 | 16 | 193 | 15 | 21 | 64 | 38 | 22 | 27 | 8 | 22 | 28 | 230

6-3.101





